4.2-4.6 Extra Practice

1.

(Calculator Permitted) If the midpoints of 4 equal-width rectangles is used to approximate the area

enclosed between the x-axis and the graph of y =4x— x?, the approximation is
(A)10 (B)10.5 (C)10.666 (D)10.75 (E)11

ol 1 2 —X

Calculate the approximate area of the shaded region in the figure by the trapezoidal rule. using

e 4 5
divisions at .\':E and x=—.
50 251 7 127 77
A) — B ) — D) — E)y —
()27 ()108 ()3 ()54 ® 27
3.
If three equal subdivisions of [—4. 2] are used, what is the trapezoidal approximation of
2 —X
I € _dx?
-4 2
A) Z+e’+e? B) e'+e’+e° ©) e*+22+2e%+e72
lia, 2,0, 2 lia, 2, 5,0, 2
(D) E(e +e"+e +e ) (E) E(e +2e"+2e +e )
4.
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A table of values for a continuous function f is shown above. If four equal subintervals of [0. 2]

2
are used, which of the following is the trapezoidal approximation of Io f(x)dx?

(A) 8 (B) 12 (©) 16 (D) 24 (E) 32

5.

t (sec) 012(4]|6

a(t) (ft/secz) 512|183

The data for the acceleration a(?) of a car from 0 to 6 seconds are given in the table above. If the

velocity at =0 is 11 feet per second, the approximate value of the velocity at # =6, computed
using a left-hand Riemann sum with three subintervals of equal length, is

(A) 26 ft/sec (B) 30ft/sec (C) 37 ft/sec (D) 39ftlsec (E) 41 fi/sec
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The flow of oil. in barrels per hour, through a pipeline on July 9 is given by the graph shown
above. Of the following, which best approximates the total number of barrels of oil that passed
through the pipeline that day?

(A) 500 (B) 600 (C) 2.400 (D) 3.000 (E) 4.800

7.

v=fx)

X
1) 1

A left Riemann sum, a right Riemann sum, and a trapezoidal sum are used to approximate the value of

1
jo f(x) dx, each using the same number of subintervals. The graph of the function f is shown in the figure

1
above. Which of the sums give an underestimate of the value of jo flx)dx?

L. Left sum
Il. Right sum
III. Trapezoidal sum

(A) Tonly

(B) Il only

(C) Il only

(D) Iand III only
(E) 1I and III only




4.2-4.6 Answers
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